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Real02 Answers for No.9844
A=(x=5)(x+5)(x+1)
2=(x-2)(x+2)(x—=3)(x+3)
3=(x+4)(x*-4x+16)

d=[r=-13] I=[m=-4]

| 2=[r=-9] | 2=[m=-1] B A=(x-2)(x+2)(x"+4)
IR satr=1) |2 s tm= ] T oo 1) (x=2) (P rx2)
A4=[r="7] 4=[m=12] GH=(x+4)(x+1)(x=3)(x-5)

TJ=(x+2)(5x+6)(3x+2)
LE=(x+2)(x—-2)(3x+5)(3x—1)._
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Real02 Answers for No.9872
A=(x-5)(x+5)(x+2)
2=x-1)(x+1)(x=-5)(x+5)

1 3=(x-3)(x*+3x+9)
2=[m=-9] B 4=(x—4)(x+4)(x*+16)
S=im=-1] | 5 s iy (x42) (- 1) (x-6)
4=[m={-4,6}] 6=(x+3)(x+1) (X +2x+2)
T=(x-2)3x+5)(2x-3)

L.8=(x=2)(x—=1)(5x-6)(2x+1)]

[m=0]

d=[r=-15]

| 2=[r=14] 3
Ansl = 3=[r==2]} Ans2 =

4=[r=-5]
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Real02 Answers for No.9873

A=[r=-7]
|.2=[r=-3] B
Ansl = 3=[r=3]f Ans2 =

4=[r=2]
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Real02 Answers for No.9884

A=[r=8]
|.2=[r=1] 3
Ansl = 3=[r=2]f Ans2 =

A=[r="7]
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d=[m=-2]

2=[m=-3]
3=[m=1{1,2}]]

A=[m=-17]

d=[m=2]

2=[m=5]
3=[m=1{-4,5])

4=[m=-6]

Ans3 =

d=(x=3)(x+3)(x+4)
2=(x-1)(x+1)(x=5)(x+5)
3=(x-3)(x*+3x+9)
d=(x—4)(x+4)(x*+16)
S=(x+2)(x=3)(x*-3x+1)
O=(x+5)(x+4)(x+2)(x+1)
J=(x+2)(4x-3)3x-1)

Ans3 =

LE=(x-3)(x+1)(5x+1)(3x—-5)]

A=(x-3)(x+3)(x+4)
2=(x-1)(x+1)(x—4)(x+4)
3=(x+2)(xX*=2x+4)
A=(x-1D(x+1)(xX*+1)
S=(x+4)(x-1)(x-2)(x—4)
G6=(x+2)(x+1) (X" +x+2)
J=(x-2)2x-1)(3x+4)

L.8=(x—-1)(x=3)(5x—-4)(4x+3)]
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Real02 Answers for No.9885

A=(x-5)(x+5)(x+2)
2=(x-1)(x+1)(x—4)(x+4)

d=[r=-3] d=[m=-5] 3=(x+3)(x*-3x+9)
|2=[r=-7] | 2=[m=-1] B d=(x-1)(x+1)(x*+1)
M =31 M) s=tm=ae) [T iy eneioxen) [
4=[r=6] 4=[m=1{-1,3}]

O6=(x+6)(x+5)(x+2)(x+1)
T=(x=-2)3x+2)(5x+1)
L8=(x-3)(x—-2)(3x-2)(4x+3)]
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Real02 Answers for No.9895

SNQE® =~ XF

6=(x+5)(x+4)(x—1)(x=3)
TJ=(x+1)(4x+1)(2x+5)
L 8=(x—1)(4x-3)(5x-3) ]
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:D
A=(x-1)(x+1)(x+3) M

2=x-1)(x+1)(x=5)(x+5) a

d=[r=-6] d=[m=2] 3=(x-2) (X" +2x+4) ¢
|.2=[r=-16] | 2=[m=-4] 4= =5) (x+5) (X7 +25) h
A= 5=l | M2 Gamm=o) | T oo (Pesxe ) | | @
4=[r=-5] 4=[m={-42}] M

U

T
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Real02 Answers for No.9898
I=(x=-3)(x+3)(x+5)
2=(x-1)(x+1)(x=5)(x+5)

A=[r=19] d=[m=3] .3=(x+3)(x2—3x2+9)
2=[r=-1 2=[m=4 A=(x=-3)(x+3)(x"+9
.3:{;/:-4} , AnsZ = .3=[m[={-5,-]1}]’ Ans3 = .5=(x+(3)(x)—(1)(x)—(3)(x)—4)
A4=[r=-2] 4=[m=5] 6=(x+3)(x=2)(x"—4x+2)
J=(x+3)(4x-1)(3x-2)
L 8=(x-2Y(3x-1)(4x-5) |

Ansl =

BN~ XD
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4=[r=5] 4=[m={-52}] Gb=(x—-1)(x=2) (X" +4x+2)
T=(x-2)(5x-4)(2x-3)
| 8=(x-1)(x=3)(3x—-1)(3x+5).

Real02 Answers for No.9899
:D
A=(x-2)(x+2)(x-3) M
2=(x-1)(x+1)(x-3)(x+3) p
d=[r=3] d=[m=2] 3=(x-2)(X+2x+4) !
|.2=[r=-17] | 2=[m=0] ~ A=(x-D(x+1)(x"+1) h
AnsE=1" 5 trma) b 250 sotm=12] P T scGed oG- || @
M
U
T
:D

[
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Real02 Answers for No.9920

A=[r=15]
| .2=[r=0] 3
Ansl = 3=[r=5] | Ans2 =
4=[r=-6]

Real02 Answers for No.10000

d=[r=-20]

2=[r=-13]
3=[r=5]
A=[r=1]

Ansl =

[m=0]
[m=0]
[m=-1]
A=[m={-7,4}]

Ans3 =

5

i
2
3

I1=[m=-5]

2=[m=-3] B

3=[m=38] , Ans3 =
4=[m={2,4}]

L8=(x+1)(x-2)(4x-1)(2x-3)]

d=(x-1)(x+1)(x=2)
2=(x-3)(x+3)(x—4)(x+4)
S=(x+1)(x*-x+1)
4=(x=2)(x+2)(x*+4)
S=(x-2)(x=-3)(x*-2x+2)
O=(x+5)(x+1)(x—=2)(x—-3)
J=(x=3)(4x-1)(5x-6)

A=(x-2)(x+2)(x-5)
2=(x-1)(x+1)(x=3)(x+3)
B=(x+1)(xX=x+1)
d=(x—4)(x+4)(x*+16)
S=(x+2)(x+1)(x-2)(x—6)
Gb=(x+3)(x+1) (X +5x+1)

TJ=(x+2)(5x-1)(3x-2)

L8=(x+2)(x=3)(2x+3)(3x+2).
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Real02 Answers for No.10017
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Real02 Answers for No.10057

A=[r=5]

_|.2=[r=0]
Ansl = 3=[r=6]]

A=[r="7]
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Ans2 =

d=[m=5]
2=[m=-5]
3=[m=9] |
A=[m=1{3,5}]

d=[m=4]

2=[m=0]

3=[m=3] |
d=[m=1{-6,3}]

Ans3 =

d=(x-4)(x+4)(x+2)
2=(x-4)(x+4)(x-5)(x+5)
3=(x-1) (P +x+1)
d=(x-1)(x+1)(x*+1)
S=(x+4)(x+2)(x—1)(x=3)
6=(x+3)(x-1)(x**=3x+1)
7=(x+3)(3x-2)(3x+5)

M

Ans3 =

LE=(x+1)(x—-2)(2x+3)(3x+5)]

A=(x-4)(x+4)(x-3)

2=(x=3)(x+3)(x=5)(x+5)
3=(x+2)(xX*=2x+4)

d=(x-1)(x+1)(x*+1)
S=(x+3)(x-1)(x¥"-4x+2)
H=(x+2)(x=1)(x=3)(x=5)

J=(x+1)(5x—-4)(3x+5)

L.8=(x+2)(x+1)(4x-5)(4x-3)]
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Real02 Answers for No.10061

d=[r=-11]

| 2=[r=13]
Anst=\ 5 o b
4=[r=4]

Real02 Answers for No.10071

d=[r=16]

| 2=[r=-9]
Ansl = 3=[r=-11]
A4=[r=-7]

Ans

d=[m=-3]
,_| 2=lm=-2]
3=[m=1{-7,5](
4=[m=-3]

d=[m=-16]
2=[m=0]
3=[m=-12]

d=[m=1{-7,3"]

Ans3 =

9

A=(x=5)(x+5)(x+2)
2=(x-2)(x+2)(x=5)(x+5)
3=(x+4)(x*—4x+16)
d=(x—4)(x+4)(x*+16)
S=(x-1)(x=2)(x=5)(x—6)
6=(x+1)(x=2)(¥*=5x+2)
TJ=(x+1)3x+5)(2x+3)

Ans3 =

LE=(x+1)(x+3)(5x+4)(3x—-2)]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKX XXX XXX KKK KKK KKK KKK KKK KKK KKK KX KK KKK KKK X KKXKKXKKKXML /1-660

A=(x-3)(x+3)(x-1)
2=(x-2)(x+2)(x=5)(x+5)
3=(x+5)(x*=5x+25)
4=(x=3)(x+3)(xX*+9)
S=(x+1)(x-2)(x¥"-4x+1)
6=(x+3)(x+2)(x+1)(x=3)
T=(x+1)(2x-5)(5x+4)

L8=(x+1)(x-2)(4x+1)(2x—3).
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Real02 Answers for No.10088

I=[r=14]

| 2=1r=3]
Ansl=\ o 12 o1f
A=[r=-4]
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Real02 Answers for No.10385

Ans2 = 3

A =[r=-13]
| 2=[r=-9]
Ansl = S=[r=-4] |

A4=[r=-3]

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKKKXXKKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KKK KKKKKKK

2=[m=0]
Ans2 3=[m=-3]
A4=[m=1{3,7}]

N

[

=[m=0]

=[m=9]
=[m=-11]

m=1{-3,2}]

d=[m=-1]

5

Ans3 =

, Ans3 =

A=(x-5)(x+5)(x+4)
2=(x-1)(x+1)(x=5)(x+5)
3=(x+2)(x*=2x+4)
4=(x=5)(x+5)(x"+25)
S=(x-1)(x=-2)(x*—4x+2)
O=(x+5)(x+3)(x—-1)(x—-2)
J=(x-1)(5x-4)(3x+1)

L8=(x+2)(x-3)(5x-3)(3x—-1)]

A=(x-2)(x+2)(x+3)
2=(x=3)(x+3)(x—4)(x+4)
3=(x—4)(X*+4x+16)
4=(x-3)(x+3)(x*+9)
S=(x+2)(x=1)(x¥*=x+2)
b=(x+2) " (x+1)(x=3)
J=(x+1)3x+4)(3x+5)

L 8=(x+1YBx+1)(4x-1) |

:D

DNSRO®= -8 K
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Real02 Answers for No.10387

A=[r=2]
|.2=[r=-6] B
Ansl = 3=[r=3]f Ans2 =

A4=[r=1]
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Real02 Answers for No.10914

A=[r=10]
| 2=[r=T] B
Ansl = 3=[r=-3]f Ans2 =
A=[r=17]
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d=[m=-2]

2=[m=-2] B
S=[m=1{2,71]p A"3=

4=[m=16]

d=(x=3)(x+3)(x—4)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x=5)(x*+5x+25)
d=(x-1)(x+1)(x*+1)
S=(x+3)(x-1) (XX +x+2)
O=(x+4)(x+2)(x+1)(x—4)
T=(x+3)(5x+6)(4x—1)

d=[m=5]

2=[m=0] -
S=[m={1,71] A"3=

4=[m=9]

L.8=(x+3)(x—3)(5x—-4)(4x—-1)]

A=(x=-5)(x+5)(x+1)
2=(x-2)(x+2)(x=5)(x+5)
3=(x—4) (X" +4x+16)
4=(x=-3)(x+3)(x*+9)
S=(x+5)(x+2)(x+1)(x-3)
6b=(x+2)(x-1)(X*+5x+1)
J=(x-1)(5x-3)(3x-4)

| 8=(x-2)(x-1)(3x—1)(4x—1)]

I
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Real02 Answers for No.10945

A=[r=-2]
|.2=[r=-10]
Ansl = 3=[r=6]
A4=[r=2]

Real02 Answers for No.10954

A=[r=17]
|2=[r=-2]
Ansl = 3=[r=4]f
A=[r="7]

Ans2 =

A=[m=0]

2=[m=0] B

3=[m=-5] | Ans3 =
A=[m={1,7}]

d=[m=-12]

2=[m=1] B
3=[m={24}1f =

4=[m=0]

d=(x=3)(x+3)(x+1)
2=(x-1)(x+1)(x—=2)(x+2)
3=(x+2)(x*=2x+4)
4=(x=5)(x+5)(x"+25)
S=(x+1)(x=2)(x=3)(x—6)
b=(x-1)(x=3)(x*"—4x+1)
J=(x+3)4x+5)(4x+1)

L8=(x+1)(x—-2)(4x-5)(4x—1)]

A=(x-3)(x+3)(x+4)
2=(x-2)(x+2)(x=5)(x+5)
3=(x-2)(x*+2x+4)
4=(x=5)(x+5)(x"+25)
S=(x+3)(x+1)(¥*=3x+1)
6=(x+5)(x=1)(x=3)(x—4)
J=(x-1)(5x-4)(3x+4)

| 8=(x-3)(x=2)(4x—1)(5x+3).
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Real02 Answers for No.10966

I =(x-D)(x+1)(x=2) ]
2=(x-1)(x+1)(x=3)(x+3)
d=[r=-7] d=[m=5] .3=(x—1)(x2+x+21)
| .2=[r=3] | 2=[m=0] | A=D1 (D)
AnsT=) s prmay b Am2510 3otm=6] | T soian -2 (Pe3xal) [

4=[r=5] A4=[m=1{-3,-1}] b=(x-1)(x=2) " (x-4)

T=(x+2)(2x+3)(2x-5)
L 8=(x+2)Y(4x+3)(5x+3) |

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXME /1-6600104-00022XX
Real02 Answers for No.11154

NS>~ XB

A=(x-4)(x+4)(x-3)
2=(x-2)(x+2)(x=5)(x+5)

d=[r=14] d=[m=-3] 3=(x+3)(x*-3x+9)
|.2=[r=13] | 2=[m=4] B 4=(x=-3)(x+3)(x*+9)
AnsE= s =71 b A2 o tm= g1, 51) AT sopa s ard) e io1) [
4=[r=6] A=[m=2]

6=(x+3)(x-1)(xX*=5x+2)
J=(x-3)(5x+4)(3x-2)
L8=(x=-2)(x+2)(5x-3)(4x-3)]
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Real02 Answers for No.11191

A=[r=-11]
2=[r=-7]
I=[r=1]

A4=[r=-5]

Ansl =

M

Real02 Answers for No.11309

d=[r=12]

| 2=[r=1]
Ansl = 3=[r=71"
4=[r=5]

Ans2 =

Ans2 =

d=[m=3]

2=[m=4]

3=[m=9]
d=[m={-1,3}]

d=[m=-5]
2=[m=0]
3=[m=-20]

d=[m=1{-7,3"]

2

Ans3 =

Ans3 =

S=(x+2)(x-3)(3x-1)(4x+5)]

d=(x—4)(x+4)(x+1)
2=(x-2)(x+2)(x—-4)(x+4)
3=(x+4)(x*—4x+16)
d=(x—4)(x+4)(x*+16)
S=(x+3)(x+2)(x*—=x+1)
O=(x+5)(x+2)(x+1)(x—4)
J=(x+1)3x+1)(4x+5)
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A=(x-2)(x+2)(x+4)
2=(x-1D(x+1)(x=2)(x+2)
B=(x+1)(xX=x+1)
d=(x=2)(x+2)(x*+4)
S=(x+5)(x-1)(x-3)(x—4)
6=(x-2)(x=3)(xX"-2x+2)
T=(x=-2)(5x+6)(2x-1)

L8=(x+1)(x+3)(2x—-1)(2x-3)]
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Real02 Answers for No.12037

TJ=(x=-3)4x-1)(2x+5)
LE=(x-3)(x+1)(3x+5)(2x+1)]

:D

A=(x-4)(x+4)(x+3) M

2=(x-1)(x+1)(x=5)(x+5) a

d=[r=-7] d=[m=-2] 3=(x+1)(x*=x+1) t
|.2=[r=-5] | 2=[m=-4] B A=(x-1D)(x+1) (" +1) h
AT 3 =21 27 sem=11] | T oD G- -4 [ | @
4=[r=3] A4=[m=1{-6,5}] b=(x+2)(x—1)(x*=5x+1) M

U

T

:D

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK LXK KKK KKK KKK KKK XKKXKKKXM4E /1-6600104-00026XX

Real02 Answers for No.12454

A=(x-3)(x+3)(x+4)
2=(x-2)(x+2)(x=5)(x+5)

d=[r=-17] d=[m=-6] 3=(x=5)(x*+5x+25)
| 2=[r=3] | 2=[m=0] B 4=(x—=5)(x+5)(x" +25)
Ansl=1" 5 1277 “|3=tm=15631F T sore) (i) (x-1)(x-3) |
A4=[r=-7] 4=[m=1] 6=(x+1)(x=3)(x*=5x+1)

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXKKXKXXXXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KK KKK KKKKKK

T=(x+2)2x—-1)(5x-1)
L.8=(x+2)(x—1)(4x+1)(3x-5)]

TNCEX®s~3 B
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TJ=(x+2)(5x-3)(3x-4)
LE=(x+1)(x-2)2x+1)(5x—-6)]

Real02 Answers for No.12483
:D
d=(x—-1)(x+1)(x-3) M
2=(x-2)(x+2)(x-3)(x+3) a
d=[r=5] d=[m=3] 3=(x-3)(x*+3x+9) t
|.2=[r=-4] | 2=[m=4] B 4=(x-4)(x+4) (X" +16) h
S IE P ) e B I e S=(x+3)(x=1) (¥ =x+2) | @
A4=[r=-7] 4=[m=1{56}] 6H=(x+4)(x+2)(x=1)(x—4) M
U
T
:D

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKX XXX KKK KKK KKK KKK KKK KKK KKK KKK KX KKK KK KKK XKKXKKKM4E /1-6600104-00028XX

T=(x+1)(4x+1)(2x-3)
L8=(x+2)(x—1)(2x-5)(5x-3)]

Real02 Answers for No.12557
:D
A=(x-1)(x+1)(x—-4) M
2=(x=-2)(x+2)(x=3)(x+3) a
d=[r=-12] d=[m=-4] 3=(x+5)(x*-5x+25) t
_| 2=[r=8] | 2=[m=0] _ d=(x-1)(x+1)(x*+1) h
Anst 3=[r=5] A B3=[m={-42}]] Ans3 S=(x+3)(x=2)(x*+4x+1) | @
4=[r=-6] A4=[m=2] 6=(x+2)(x=1)(x=3)(x=6) M
U
T
:D

[
L
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Real02 Answers for No.12637
I=(x=2)(x+2)(x—4)
2=(x-3)(x+3)(x—-4)(x+4)
3=(x-2)(x"+2x+4)

J=[r=20] [=[m=-4]
|2=[r=-1] 2=[m=1] B A=(x-2)(x+2)(x*+4)
AnST=) 3 =21 ™25 32 tm= 17,5310 T 5o (xr6)(ra2) (1) (x—4)
A4=[r=2] 4=[m=-15] 6=(x-1)(x=2)(x**=5x+1)

T=(x+2)(4x-3)(2x+3)

TNSX®@>~2 XD

LE=(x+1)(x—-2)(5x—-6)(3x+2)]

1
I

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXME /1-6600104-00030XX
Real02 Answers for No.12689
A=(x-2)(x+2)(x—-4)
2=(x-2)(x+2)(x—4)(x+4)
3=(x-1)(*+x+1)

d=[r=-4] I=[m=-5]
2=[r=-19] 2=[m=-9] A=(x-1)(x+1)(x*+1)
Ansl = Ans2 = Ans3 =
S I e A 3=[m=5] [ " S=(x+3)(x+2) (X +2x+2)
4=[r=-6] A4=[m={5,6}] G=(x+3)(x+2)(x+1)(x-3)
J=(x-3)2x+3)(4x+1)

SNQOR® =~ XF

L

| 8=(x-3)(x=2)(2x+5)(4x—1).
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Real02 Answers for No.13349

A=[r=6]

| 2=[r=1]
Ansl = 3=[r=3]
A4=[r=-4]

Real02 Answers for No.13519

d=[r=19]
|2=[r=-2]

Ansl = 3=[r=-6]"
A=[r=1]

, Ans2 = 3

Ans2 =

A=[m=0]
2=[m=-5]
=[m={7,2}1

4=[m=9]

A=[m=-5]

2=[m=3]
3=[m={-2,3}](

4=[m=5]

Ans3 =

Ans3 =

I=(x=2)(x+2)(x=1)
2=(x-1)(x+1)(x=3)(x+3)
3=(x+5)(x*=5x+25)
4=(x=5)(x+5)(x*+25)
S=(x+4)(x=1)(x=3)(x—4)
H=(x+3)(x+2)(x*+3x+1)
T=(x+2)(4x-3)(5x—4)
LE=(x+3)(x—-1)(3x—-5)(3x+2)]

A=(x-5)(x+5)(x+4)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x—-4)(x*+4x+16)
4=(x=5)(x+5)(x"+25)
S=(x+1)(x-2)(x-3)(x—4)
6b=(x+3)(x=1)(x¥*—=x+2)
J=(x+1)(5x-3)(4x-1)

| 8=(x—1)(x=3)(5x+3)(2x-3).

TNCX®=~2 X
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Real02 Answers for No.14276

Real02 Answers for No.14331

A=[r=2]

|.2=[r=-6]
Ansl = S=[r=-1]]

4=[r=-5]

d=[r=-7] d=[m=4]
| 2=1r=2] | 2=[m=-3]
Anst=| o roayp 27 3o m= (35310
4=[r=4] 4=[m=-9]

d=[m=-3]
2=[m=-15]
3=[m=-4] |
4=[m=1{57}]

Ans3 =

Ans3 =

I=(x=2)(x+2)(x-3)
2=(x-4)(x+4)(x—=5)(x+5)
3=(x-1) (P +x+1)
4=(x=3)(x+3)(x*+9)
S=x+2)(x-1)(x—=5)(x—6)
6b=(x-1)(x=2)(X+4x+1)
T=(x+3)(2x+3)3x+1)

LE8=(x+1)(x—-2)(4x+3)(2x+5)]

A=(x-2)(x+2)(x+4)
2=(x-1)(x+1)(x—4)(x+4)
3=(x+2)(xX*=2x+4)
4=(x=5)(x+5)(x*+25)
S=(x+6)(x+2)(x-1)(x-5)
6=(x+2)(x-1)(xX*=5x+1)
T=(x+2)(5x-1)(2x+3)

S=(x-1)Y(4x-3)(5x-3) |

TNQOX®@ >~ XD

1
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Real02 Answers for No.14360

A=[r=13]
|.2=[r=-20]
Ansl = 3=[r=2]
A4=[r=-T]

Real02 Answers for No.14380

A=[r=5]

|.2=[r=-3]
Ansl = 3=[r=-5]]

4=[r=-6]

Ans2 =

Ans2 =

A =[m=-4]
2=[m=-4]
3=[m=-7]

d=[m=1{-4,7]

d=[m=4]
2=[m=-16]
3=[m=0]
A=[m=1{1,6}]

2

M

Ans

Ans3 =

3=

I=(x=2)(x+2)(x-3)
2=(x-2)(x+2)(x—-4)(x+4)
3=(x=5)(x*+5x+25)
d=(x-1)(x+1)(x*+1)
S=(x+3)(x+2)(x=1)(x=5)
6=(x+3)(x+1)(x¥*=5x+2)
J=(x=1)(4x+3)(2x+5)

L8=(x+1)(x—2)(4x-5)(4x—-1)]

A=(x-1)(x+1)(x-3)
2=(x-4)(x+4)(x-5)(x+5)
3=(x+2)(xX*=2x+4)
A=(x-1D(x+1)(xX*+1)
S=x+3)(x+2)(x-1)(x-5)
b=(x-1)(x=3) (" +x+2)
TJ=(x+1)2x-1)(5x+2)

L8=(x+1)(x—=1)(5x-1)(3x-2)]
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Real02 Answers for No.14393
A=(x-2)(x+2)(x-1)
2=(x-1)(x+1)(x=5)(x+5)
3=(x-3)(x*+3x+9)

d=[r=-8] I=[m=0]

|.2=[r=-11] | 2=[m=0] B 4=(x-2)(x+2)(x*+4)
AST= =71 T e 230 T i s (P 5xt D)
4=[r=7] 4=[m=0] H=(x+1)(x=2)(x-3)(x—-6)
T=(x=1)(5x-2)(4x+3)

TNCX®@=~2 X

LE=(x+2)(x—-1)(4x+3)(3x+5)]

1
I
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Real02 Answers for No.14418
:D
A=(x—-4)(x+4)(x+5) M
2=(x=2)(x+2)(x=3)(x+3) u
d=[r=19] d=[m=3] 3=(x—-4)(x*+4x+16) t
|2=[r=17] | 2=[m=0] B 4=(x=-3)(x+3)(x*+9) h
Anst= 3 =3y b A2 3-pm=c12] | AT o) e o3 || @
4=[r=3] 4=[m={-3,1}] b=(x+3)(x-1)(x*-x+1) M
T=(x+1)(5x-4)(4x-1) u
T
:D

| 8=(x+1)(x—1)(2x-3)(4x-3).

L
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Real02 Answers for No.14419

L >

A=[r

| 2=1r
Ansl = 3o[r=
A4=r

d=[m=-16]
| 2=[m=-5]
Ans2=) 5 = (3.60F
4=[m=3]

Ans3 =

A=(x-5)(x+5)(x—-1)
2=(x-2)(x+2)(x=5)(x+5)
3=(x=5)(x*+5x+25)
4=(x=5)(x+5)(x*+25)
S=(x+4)(x+3)(x+2)(x—1)
H=(x+2)(x+1) (X —x+1)
T=(x=-2)3x+1)(2x-5)

M

L.8=(x=-3)(x—=2)(5x—-1)(2x+5)]

TNCEX®=~2 X
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